N of reco track vs dxy [\ of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2] F 1%} [%] F (%]
x o L] x o X - X
8 1ol : 8 1ol g g
s 10°F = E 104k =
g o 10F o
F ] s F 8
10°F i g
i E 3 oE s
10°F - 10°F E
E : b 10
10°F & 10°F E
E o E -
I I 10
L) A | TR A 10F E
1;.. ..... . -- - 1| 1F-
9 .of —
g5 F i [ -EHEER 5B THz2 36
o 2 14 S " ; ? ™ ; ; ;
so-ctef- R -5 sop--tef- {1 L A
L ] 1) | i N ool : : oo ool
—120 -15-10 -5 0 5 10 15 20 -20-15-10 -5 0 5 10 15 20 -20-15-10 -5 0 5 10 15 20 050 =15 =10 =5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2] 1%} F 1%} F (%]
x < o X - X
8 105l 8 1ol @ 8
£10° £ = s
3 2 @
£ = 8
10* g
>
E k=]
10° E
10°F
10? ] 3 - 4
R 10E— -------- 1 S I
1 |.H' Jﬂ...ltﬂ“Hﬂl H N R e
o “ . . . F k] o B o
g LE... : . . - T g 3 : 1
o4 : h ; 4 14 4 o
. 1 o8f----f-- T .- 1 I S
1.5 k
- - i e ; gt 41 4 - : e : 14 : ] :
-30 -20 -10 O 10 20 30 20 30 -30 -20 -10 O 10 20 30 %5320 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


